Mathematics Section A

Section Id : 708191872
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911152
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819119984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i Sl Bl

If a and ; are perpendicular, then a < la \a > bJH is equal to :

Options :

=

70819165101.

—=|" —=

4
‘a b

M| =

70819165102.

e
70819165103.|a‘ b

e

70819165104, @ * b

Qcollegedunia;



Question Number : 62 Question Id : 70819119985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7,5,5), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of his:

Options :

70819165105. >
70819165106.

70819165107.

70819165108.

Question Number : 63 Question Id : 70819119986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2Zx+y=6is a:
Options :

70819165109, Right angled triangle

70819165110. Isosceles triangle

70819165111, Equilateral triangle

70819165112. None of the above

gcollegedunia;



Question Number : 64 Question Id : 70819119987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)(a+2) a+2 1
The value of |(a + 2)(a+3) a+3 1|is:

(a+3)a+4) a+4 1
Options :

a+1)(a+2)a+3
70819165113, @t D@+2)@+3)

20819165114, (@ t2)(@a+3)(a+4)

70819165115, — 2

70819165116, 0

Question Number : 65 Question Id : 70819119988 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

7
.
20% in 2 hours. If the population of bacteria is 2000 after B hours, then [ 3 is
[OBE [E) \ ]'OBH P
equal to :
Options :

70819165117, 2

e

70819165118.

oo

70819165119.

70819165120, 16 gﬁﬁ!!i%fflﬂ!ﬂ.ﬁi



Question Number : 66 Question Id : 70819119989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB =13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

y F
| “\xﬁ

D\ A ; 'B

Q
Options :

=

24 ﬁ

70819165121,
70819165122, 2443

70819165123, 2682

—
70819165124, 2643

Question Number : 67 Question Id : 70819119990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[3sin(Z +h) — cos(Z +h}]
The value of lim 24 6 = ) 6 }'> is :
h—0 | J3h(y3cosh — sinh) ]

Options :

L3 | b

70819165125, M collegedunia



4
70819165126. -

4 N

70819165127, N+

3
70819165128, 4

Question Number : 68 Question Id : 70819119991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = —x* — 55 + 18x% ~ 19x occurs at the point :

b | =

Options :

70819165129, (0. 0)

L
70819165130. (2 2)

70819165131. ° =

70819165132, (2 9)

Question Number : 69 Question Id : 70819119992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _I: hceinid ’1
1+ 3

iy )

dx is:

Options : gcollegedunia;



e

70819165133.

§
=)

70819165134, 2

!

70819165135.

70819165136.

Question Number : 70 Question Id : 70819119993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options:

70819165137, 42

(h]

70819165138, 22

=1
e |

708191651309.

o0
I

70819165140.

Question Number : 71 Question Id : 70819119994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of the term mdependent of 't in the expansion of [tp |

t
3 / gcollegedunia;

where xe (0, 1) is : -




Options :

70819165141, V3(5)°

70819165142.

70819165143.

| 2
70819165144, 2!

Question Number : 72 Question Id : 70819119995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set :

Options :

={(x By
70819165145, ° (& ¥) [T Hym=4]

= I(x 2.
70819165146, >~ (& ¥) | T4y

70819165147, >~ (& ¥)

e . 0 2='
20819165148, 5= (& ¥ | P +y*=2}

Question Number : 73 Question Id : 70819119996 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No )

gcollegedunla;
Correct Marks : 4 Wrong Marks : 1 - g



Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819165149, 1

70819165150, 4

70819165151, ©

70819165152, 12

Question Number : 74 Question Id : 70819119997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

fO-fy)| = |x-y?.v(xyeR
If il0) = 1, then:

Options :

70819165153, /(¥ >0, ¥ x<= R

20819165154, /(¥ <0, 7x = R

70819165155, J(¥) =0, ¥x e R

20819165156. f(x) can take any value in R

Question Number : 75 Question Id : 70819119998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegedunia;



A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options:

B
70819165157, 2

1
70819165158, 2

70819165159.

15
70819165160, 2"

Question Number : 76 Question Id : 70819119999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. —1_ -1 _ -1 / \
. sin X cos X tan "1 e :
If = = L ;0 < x <1, then the value of CDSI _ | is :

a b C \a+b)

Options :

o
70819165161, 1 ¥~

2

-y
70819165162. VY

1 yz
14 1;2
70819165163. :
1 yz
2y
70819165164.

gcollegeduniag



Question Number : 77 Question Id : 70819120000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2
In an increasing geometric series, the sum of the second and the sixth term is % and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to :

Options :

]
o

70819165165.

Ld

70819165166. -0

70819165167.

L3

70819165168, 39

Question Number : 78 Question Id : 70819120001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A X 2 7 1 2 Y I .
The sum of the infinite series 1 = b —

3 T g5, e is equal to :

Options :
9
4

708191651609.

‘i
70819165170. 4

13

70819165171. 4

15 ,
— collegedunia:

70819165172, 4 ¢



Question Number : 79 Question Id : 70819120002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the three planes

P; : 3x+15y+21z=9,

P,: x—3y—z=>5, and

Py : 2x+10y +14z=5
Then, which one of the following is true ?
Options:

20819165173, 1 and Py are parallel.

70819165174, L1 and Py are parallel.

20819165175, Pl, I"2 and P'3 all are parallel.

20819165176, L2 and P3 are parallel.

Question Number : 80 Question Id : 70819120003 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n
The value of | e* Pl dx, where [ x] is the greatest integer < x, is :
n=1 n_q

Options :

70819165177, 100(1—¢)

70819165178, 100(1+e)

100e
70819165179. gcouegeduni&



70819165180, 100(e —1)

Mathematics Section B

SectionId : 708191873
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911153
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120004 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

i s

. ; v Va g
of curves given by ¥y~ = ﬂl ESCrpae

| 2 )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Qcollegedunia;



Question Number : 82 Question Id : 70819120005 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x3—2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819120006 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—2|is _
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120007 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

siny
o o

) : . : i di
If y=y(x) is the solution of the equation ehm*fcosy—j. | cosx = cosx, y(0)=0; then

() \.'ﬁ () 1 () _
14 y|\EJ | ?y|;)‘ | \—Eylzj isequal o .

Response Type : Numeric

Evaluation Required For SA : Yes gcollegedunia;



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120008 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120009 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosx =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120010 Question Type : SA

gcollegedunia;



Correct Marks : 4 Wrong Marks : 0

Let (A, 2, 1) be a point on the plane which passes Lhrough the point (4, - ). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and ( —16, 23), then
2
ﬁ« 3

l — 4 isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120011 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819120012 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f \ﬁ{coszxj = (3 ~ 1)cosx + 1, the number of solutions of the given equation when

Response Type : Numeric gcollegedunla;



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120013 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

n+misequalto

( ‘n)
‘k Here ‘ L

1
=" |
Nl o

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

| =n-2™, then

gcollegedunia;





